100 # 4 23 2 ofra i 4 | 3 3 E4 BE 44450 2>- T
e B R
5L TR
Bp o RE S E

‘:I';géﬂizﬁ'l&: 1']5*30/40\ ]:'—.%'fu
AR P OF MR R IIEE

OF )AL > (TF Pl ATRE FRERTA B AFL L N AEE T4 > 2334 o

-~ ERE (FPR104 0 2 40 4 )
ORTEFER R B AR AH R2 % 5] o
PR F FA 0  RiF2 T 53 A3 t&PSIiE -
EFFIRIBEETFH - AL E S
(IT_UDﬁ*ﬁ Lambert-Beer’s Law % 4 k& B2t 12 o

=~ - A% oReipH=T 0 e~ 15 mg/Len= & i (HOCL) # A 0 arkipig ? 5 384 0
HOCI ¢ 28 5 = & pefR4 3 (OClT) » EpHE 7 sc % » 33+ 8 gt &% k¥ A3
HeHOCIE A 5 575 o (20 4 )

B3+ € :Cl=35.5> 0=16 » H=1
HOCI +H,0 —» H;0"+0Cl” K,=2.9x10®

e
> 1L g 2

«— f #-k 5 100 mg/LCOZ 2 75 mg/LeHCO; » ~ 3% -k #pH=10.43 -
}\mﬁéﬁi (Alkalinity ) # r2mg/L as CaCOs;% 77 o (20 4 )
)%7 £ 1 Ca=40 > 0=16 > C=12 > H=1 KW=10'14
Alkahmty—[HCO3 1+2[CO5*" 1+[OH ]-[H]

2
"
o
!
\SE
ot

Ji

e o~ o131 (P) ehZ %8 (halflife) o t,=8 % > BR3Pz %% % — P& (First
order) ¥ & o (20 &)
O B PehE g 5 ki@
<>*’mlv BRI RLGN001 2 5 R



